AP Calculus

Chapter 4

Morning Review Session {part 2: Calculator )

1. An obJect moving along a hor:zontal line has v(t ) t cos ( 6) measured in inches per

second from'[0,11]

* Create Sign line for v(t) and a{t)

_notation) :

“ede o Hpd the slovis)when-object reaches average velocity. -

b. Find the time(s) when the object is motionless
c. Find the velocity of the object at t = 4 seconds. | d. _ Find the acceleration of the object at t = 4 seconds.
Te. ‘Isthe ObJECt s SPEEd mCFeaSlng or decreasmg at £ ’Flnd the total dlsplacement of the object.from -
- t=4 seconds?Justlfy answer. - S t 0 tot =11 seconds (Show Integral Notatlon)
g. Find the total distance of the object from h. Find the time when the object reaches minimum
t =0to t = 11 seconds (Show Integral velocity in [0, 11]
Notation)
- | .- “Find the minimum _velocity. in [O,v‘ll]
'j. - Given x(0) =3, Fmd x(ll) (Show mtegral, | k.- Find the average velocity in [0, 11]




2. The graph of f consists of line segments. Let g(x) = fzx fHde

a. Find g'(x)

b. Find g”(x)

c) Find g{4) ‘ d) Find g(-2)

Find g"”"(-3.5)

f)  For what values of x is g increasing? Justify Answer

g)

For what values of x is g’(x) decreasing?

h) Find the absolute extrema of g on the interval [-1,3].

3. The following table shows the size of an incoming wave headed towards shore at a given moment.

53

Distance from left of 0 7 18 24 36 44

wave {x feet)

Height of wave h(x) 0 5 13 26 16 7 0
(feet)

a) Use a trapezoidal sum with the six sub-intervals indicated by the data in the table to approximate

the area of the face of the wave. Show correct units.

53

- b} Estimate J'Mﬂdx

0

using: 2 middle re:

c) Find the average height on the interval [0, 53] using estimation from part b
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1. An object moving along a horizontal line has v(t) =t cos( ) measured in mches per
second from [0,11]
a. Creatjlgn line forvgband a(t) b. Find the time(s) when the object is motionless 7
v(t) - 220 3 Tsee
TN 0,3, 1 secads
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C.

Find the velocity of the object at t = 4 seconds.

d.

v U‘f) =~ in /5(’4
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e.

Find the acceleration of the object at t = 4 seconds.

(4)= =254 i 2

Fa/cJZa?Lor nDeri (\( X Lf)

t 4 seconds? Justify answer.
S

J’oz (s mw&(s;7 b/ v(%) <o and]
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Is the object’s speed increasing or decreasing at

f.  Find the total displacement of the object from

t=0tot=11seconds (Show Integral Notation)

XV&)X - -10?73 fl"l.

O
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g. Find the total distance of the object from

t=0tot =11 seconds (Show Integral
Notatlon)

Jiv At = 34 ga4,,
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h. Find the time when the object reaches minimum
velocity in [0, 11]
'é = 6 . S\Zhl aszn d(‘éJ :ﬂ?" { {wm
—t+ Y Y

i. Find the minimum velocity in [0, 11]

‘/(?654@) = - é L& in .//j{.ﬁ.

j- Given x(0) = 3, Find x(11) . (Showmtegral
notation)

A(i) = 'x(};f)‘-ty VeVt

=3+ (-, fm) =293

RS

k. Find the average veloc1ty in [0, 11]

AU w/ar:’{} '1‘—;_%;J V)AL = M( /0 (7{/3)
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Find the time(s) when object reaches average veIocrcy.

se vit)=-0.999

f/_—;’-, T .
tcos (‘"7/) — _07(]’? 't = 3, 54( sec
R wnd 4 =§ 792 se
f(w;(wyé) +0. 7)’/? ll

e
e ———



2. The graph of f consists of line segments. Let g(x) = fzx Flt)dt v
> ) 7
a. Findg'(x) = -p(;d . ’ = 4 (X)
ﬂ)()’(‘ ;#(K I L
§6)=F0x) 5 A
-4/ 3. -2 - | 2 3 4
b. Findg’(x) = - (x} H

L

o~

o) Fmdﬂ(4) d) Find§ (-2) e e) Findz”(3.5) = ("3 s)

ﬁ‘—( h(-2) JF&)LU j#’(t)j/{- Fisd shope. bt (-4-1) and /3,0

h(4)= j\[(ﬂc%-[; . .
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f) For what values of x is g increasing? Justify Answer g) For what values of x is g’(x) decreasing?

' M A IR §(x) 15 incudsing oh U\ is decveasizg on (-1 1) L]«
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h) Find the absolute extrema of g on the interval 31 ; "L ot ) e 3 f
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3. The foIIownng table shows the size of an incoming wave he ded towards shore glven moment.
o hehe gy o ,i wargs shore .5
Distance from left of | O -7 18 24 36 44 53
wave (feet) x o
—d—= “-~x) — o —— ,_‘,_J
Height of wave H(x) | 0 5 13 26 16 7
(feet)

a) Use a trapezoidal sum with the six sub-intervals indicated by the data in the table to approximate
the area of the face of the wave. Show correct units. ‘f{[ ﬂ)-r( 2]
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b) Estimate jh(x)dx using 3 middle rectangks
0 .
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| N 13:4(7) + 19 h(24) + 17 bkt
Cus(s)H Ig(ac) + 1F(7)  =|CFE [T

c) Find the average height on the interval [0, 53] using estimation from part b
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